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A - WITHIN THE LIMITS OF MEASURMENTS LEVEL FOR OZON ARE 0.12 PPM .FIND OUT THE
CONCENTRATION OF OZON IN mgm/m’? T=77°F & P=1 atm.

p ol ) Jpaally ) el Jusf —

Jhaall 43 glal) 5aLal) o
.

Lpuanl 53551 y

crag gl wiba | 2

Liseddl lapalt| 3

g el 28| 5

o leie ahai e cla _ pealal) iy in i ) Yy e Lalaid g L3 G/ cilasaal) (bl gl (s0a) s —g
clgleladiny Ally  olagy) calal) SO

—

4‘_,014:-..:..4]\



Glapa( 5+10+3 +3) /20

o dalsall 038 g = Alall skl Ll Cilang oo AL Lede Galgh Jalge Bac aags -
=y T Ay ol SR - S5

- Aplall lislall jeasll 385l )4 2SI e JS G dagp Al byl AD) cla -

tolial mamsall Jpaally Al cle il JsT ¢

& bl Leea sa 8/

Abil clelially o Lo gf ALB Cliple geiis 0 cileliall jluis)

LSY I

Ll odg) Loaslansd) of Luiloasdt of Lily il clioall o [k 4 JS g0
o ey dirie o Ll iy Slaiyy) 48 Sy o1 LbYI /
Lapbl it Glaiy) dslas o g of cldiad of Lol clilsly lusy)

S ol Sl Eiplal) g lggli o331 Eipl g ppan daidlsa | 3
Copli (4 o5 ey (o Al ¢ pusan] jhaall CppSi ) sl ¢ gl
Laile)) claball

) 0bia o gl 1S3 4 G 5l a5 | 4

Lnl] gpsuar 15358 Dgisiaal pabsl] Uil plaiies

Of ua Sl Gaal g il st Lss Y1 alisiay Licliaall 5,420 clinl | 6
e 536 olidi fisy ¢ lgpliddl dalel) ¥ YT bt dhreygie deliva

e i O ppalucailly Lualyslly Laild) dgad) Gya culbally 4l Lis cuns | 7
Lty Aadlill dgall spals iis ¢ dbaalt Lilually fidil) bbs slac)
hhdidlly ¢ ( awall cipall doaa ) doaall ida cyptl aselally
i.!.i.\.a@.iqji.tdw)glﬂ

O Y prbiea o T U Lad) SLASH pang Y JAIH £ fiai | 8
ady) ods ity Jois i Bl g Spasad) Lrcadiah gl daS)
Cal) QLAY yai A Slids pill dadSly praas Laiiy

dbpiiaal phell Clpe 6 Ladidosal) ypnll ciluiiall | 9

e g Al Lty 5 Lplsdd) UY) e Lawe S GEAN psal | 10)
G bl Ldlial 1819 s il 3 jaipa Jof sic g andll G Gpus
Lolal) daall Llaat LLdSH ol sl cisgs )Yl S aall (oo

4UA24_>..A_.¢JI



D - POLLUTANTS OF MERCEDES CAR CONTENTS OF 0.05% NO, @ 602C & @ 01 atm. COMPUTE THE
CONCENTRATION IN PPM & IN mgm/m® ? (N=14 ,0=16)
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B - The burning of the fuel of 5 T fully burned . what is the weight of the air required for the combustion of

fuel and that fuel consists of 30 % Nitrogen , 15 % hydrogen, and 5 % sulfur by weight ratios. Note that the
weighted percentage of oxygen in the air is 23.2% .
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D - For gas pollutant (Co2) , the limits measurement level are 123 lgm/m3 @25¢°c . Find
out the follows:

- The concentration in PPM ?
The concentration in % by volume
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